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Bg/L Bg/L
C C B (
35m
T-2 c-2-1 -0 B-0-1 X-1
3 4 3 4 3 4 3 4 4
7:58 7:39 7:33 7:23 7:30
Cs-134 2 ND(L.1) 38 42 1 ND(18) Cs-134 2 18
Cs-137 30 ND(1.4) 15 13 1 ND(23) Cs-137 30 80
B ND(20) 56 43 48 B 130
330 T-2
27 2 22
1 2 22
ND
C C 35m C-2
2 B
Bg/L ".- """"""""" ]
c c mhokObEEK |
35m 2 D EpkBEOE) |
T-2 C-2-1 c-0 f
Cs-134 2 35 11/9 59 <8/11> 20 <2/15>
Cs-137 30 81 9/1511/9 22 2718 51 <2/15> | BEE e TR T e -t
B ND 110 <10/7> 120 <2/15>
B .
2 ( 5.
B-0-1 ) HK-11h8| 3C HEKESEEIL
X-1 IZHFL PRI THY. CHbkES
Cs-134 2 ND 110 <5/1> 450 1074 L A\DFENRBIIBUEEA
Cs-137 30 ND 280 <5/1> 990 10/4 X REREPSI JBRE T IEME
B ND 380 9/2 15000 1072
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